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Note: (a) All questions are compulsory. g“% . ‘E ""“‘“
(b) The candidate is allowed to make Suitable numeric assumptions whe??ﬁer‘reé lred
-, 4\
g & ¥
Jfor solving problems rc};.:%s N ¥
Q.No Question %\ ['CO Marks
Q1 Align the following two sequences using the Needleman?i%/gnm CO-1 (04)
algorithm (match: +1, mismatch: -1, gap:-2): A
Sequence A: ACTG ,,a»;;-»«-
Sequence B: ACGw % 3
£ i""‘-'ﬂwy
a) Construct the scoring matrix % ‘“%:.m b, il
b) Perform traceback to find the opt makallyment
¢) Provide the final ahgnment»_"n cgre-
Q2 Define Biological databascs 2’*“”]}31§f11'17g1118h between primary, | CO-II (03)
secondary and derived datat%%ﬂes“* Mention any two nucleotide
sequence databases and?tw protein sequence databases.
Q3. | Given the following olfser\'?‘ed substitutions in a protein family, | CO-II (02)
calculate the log-¢dds scoré for a substitution matrix.
Pair Obsz‘rved Frequency Expected Frequency
A-A ¢ ”“‘xﬁv_' 02 0.15
AGW‘_'“?;“ 0.05 0.08
Q4. Expf"h the,following — CO-1& | (06)
\.w\ a) Hbmologs and orthologs CO-II
* %\h b) Accession number
AR % ) Difference between sequence similarity and sequence
A, o identity with the help of an example
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